=N =

AX T L

1. T %4 W B/ NER AL E B AL S0E L

2. i T 3% Ar KoM ERT— T H33—1

3. T 1 BRIFHE RS A 2 £ 12H 25HFT

n g bHEBIALUE (B L O%E, 2 B L DI

ERCICAED AR i Lo — o Bk (i 4 — K




/N R AL B A L BOE T TEMRS RS P RR

= & 54,670,000 Ay
T 4l ¥ 4 49,700,000 Ay

THE BiAE 24 %A & 4,970,000 5




% W EHRHNMNERLEBER M LRETSE No.
% b i3] = B i 28 &
[ERZARE Xy
| @51 1] K 19,558,861
| EXEE LHE 1] 3,239,760
I0 | et o 1 = 12,921,961
RN X 35,720,582
Hm gy
I meGeE 1] K 1,449,879
| BUGEEE 1 =K 6,311,842
—E B 1 = 6,217,968
BiSTE 13,979,689
&t 49,700,271
XA gE (T FmES) SHEES 271t e 49,700,000
THE RS Y%A 4,970,000
WA (LEE) 54,670,000




A FEHNMNERIEBERE M, LBETE No. 2
% b i3] 2 Bifg i 28 &

I |BEITS
1 |[EERGETE 1 K 771,845
2 |[BEMEIE 1 = 5,574,054
3 |NERE T 1 X 5,799,458
4 |BEKETHE 1 = 50,079
5 [2oy bR OO T 1 K 4,531,560
6 |- 1 = 2,831,865

&t 19,558,861




£ By /NP AL BEM M L oE T [ PER] No.
4 g T L2 e AL B & i
O |HEHE/NFAR

1 [MrdaETE
1) SRR I 1 =& 197,070
2) FEAT R BT 5yl 1 =X 2,098,090
Aty MY I 1 = 398,780
3) B R 1 X 398,010
4) YE7= A 1 = 41,340
5) K SR FN T 1 =X 61,470
6) BHAL - AR SRS FRER i 1 =& 45,000
ait 3,239,760




& FE /N AR AL BB DA L SoE T [FFARR] No.

4 giN i 23 o OB BAT Bl & KA

I (Bl 9
1 AR B T 1 = 4,889,790
2 R T 1 =X 2,207,410
3 BEKEE T 1 = 5,085,230
4 | KRR TE 1 =X 185,531
5 | METHE CGRAEM WLy 2 - =R E B Te) 1 = 554,000

&t 12,921,961




